Quadratic Functions Review 

CA AA Standards 8.0: Students will solve quadratic equations by factoring, completing the square, or using the quadratic formula
CA AA Standard 9.0: Students can determine how the graph of a parabola changes as a, b, and c vary in the equation y = a(x – b)2 + c.

CA AA Standard 10.0: Students graph quadratic functions and determine the maxima, minima, and zeros of the function. 
1) Your group will be given a quadratic function from the list below.
a) f(x) = x2 – 4x – 5 
b) f(x) = -x2 + 4x + 5    c) f(x) = x2 + 2x – 15  
d)  f(x) = -x2 – 2x + 15  e) f(x) = x2 – 6x + 9  
f) f(x) = -x2 + 6x – 9 

g) f(x) = x2 + 2x –  8      h)  f(x) = -x2 – 2x + 8    i) f(x) = x2 + 3x + 2    

j) f(x) = -x2 – 3x – 2       k) f(x) = x2 + 7x + 12  k) f(x) = -x2 – 7x – 12  

l) f(x) = x2 – 4x + 4  
m) f(x) = -x2 + 4x – 4     n) f(x) = x2 + 6x + 5  
o) f(x) =  -x2 – 6x – 5   p) f(x) = 4x2 – 4x + 2  
q) f(x) = -x2 – 4x – 6 

2) With a partner divide up the following tasks:

a) Create 4 multiple choice answers for your quadratic function for each of the following questions.  Be sure to include good distracter answers.

i) The x-intercepts (the zeros) of (your function) are …

ii) The  maximum or minimum value of (your function)  is…
iii) The quadratic written in vertex form is...

iv) If (your function) is shifted 2 units to the left (or right) and 4 units up (or down), the resulting function would be which of the following (in vertex form)…
b) On graph paper, graph the function neatly.  Use pencil first, then trace with a marker.  Your graph should include the following neatly labeled: the vertex, the zeros (x – intercepts), 2 other points on the graph, the function in standard form, the function in vertex form, and the translated function drawn in as a dotted line with the vertex and two other points labeled.
c) Present your problem with the graph, the shifted graph and the 4 questions to present to the class.  Explain the mistakes students would make to choose your distracters.
d) Solve your quadratic 3 of the 4 different ways to find the x-intercepts.
